Numeracy – Problem Set 1

IF YOU ENJOY THESE, WRITE WATERLOO MATH CONTESTS! SEE MR JOHN FOR DETAILS

	1.

P 2001 #4
	[image: image1.png]If x= %, which of the following has the largest value?

(A) x ®) (© ix ®) (B) Vx
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P 2005 #2
	[image: image2.png]The expression 6a — 5a + 4a — 3a + 2a — a is equal to
(A) 3a (B) 3a® ©3 D) —21a (E) —21a5
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C 2005 #6
	[image: image3.png]Last week, a charity fundraiser had 8 volunteers who each worked 40 hours and who each
raised $18 per hour. This week, 12 volunteers, each working 32 hours, raised the same total
amount of money. How much did each volunteer raise per hour this week?

(A) %9 (B) $12 (C) $15 D) $21 (E) $24
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C 2003 #8
	[image: image4.png]An equilateral triangle has a side length of 20. If a square has the same perimeter as this triangle, the
area of the square is

(A) 25 (B) 400 (C) 225 (D) 60 (E) 100
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	[image: image5.png]In a school, 30 boys and 20 girls entered the Cayley competition. Certificates were awarded to 10%
of the boys and 20% of the girls. Of the students who participated, the percentage that received
certificates was

(A) 14 (B) 15 (C) 16 (D) 30 (E) 50
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	[image: image6.png]When x = 3, the value of x(z — 1)(z — 2)(z — 3)(x — 4) is
(A)6 (B) -6 ©)o (D) 24 (E) —24
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	[image: image7.png]A farmer has 7 cows, 8 sheep and 6 goats. How many more goats should be bought so that half of her
animals will be goats?

(A) 18 B) 15 (0)21 D)9 E)6
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C 2002 #10
	[image: image8.png]Faruq subtracted 5 from a number and then divided by 4. Next, he subtracted 4 from the original
number and then divided by 5. He got the same final answer both times. The original number was

(A)4 B) 15 ©9 (D) 20 (E) -9
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	[image: image9.png]If x=2 is a solution of the equation gx —3 =11, the value of ¢ is
(A)4 B)7 (C) 14 (D) -7 (E) -4
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	[image: image10.png]Itis given that y=3x—-5 and z=3x+3. If y=1, the value of z is
(A)8 (B) 6 (©) -3 D)3 E)9
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	[image: image11.png]Three small rectangles, of the same depth, are
cut from a rectangular sheet of metal. The area
of the remaining piece is 990. What is the
depth of each cut?

(A) 8 B)7 ©)6
D)5 (E)4
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	[image: image12.png]At a math conference, the following exchange rates are used:

1 calculator = 100 rulers

10 rulers

30 compasses
25 compasses = 50 protractors
How many protractors are equivalent to 1 calculator?

(A) 400 (B) 600 (C) 300 (D) 500

(E) 200
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	[image: image13.png]Ifnis any integer, n+3,n-9, n—4, n+6,and n—1 are also integers. If n+3, n-9, n—4, n+6,
and n—1 are arranged from smallest to largest, the integer in the middle is

(A) n+3 B) n-9 (C) n—4 D) n+6 (E) n-1
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	[image: image14.png]In 2004, Gerry downloaded 200 songs. In 2005, Gerry downloaded 360 songs at a cost
per song which was 32 cents less than in 2004. Gerry’s total cost each year was the
same. The cost of downloading the 360 songs in 2005 was

(A) $144.00  (B) $108.00  (C) $80.00 (D) $259.20  (E) $72.00
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	[image: image15.png]In the diagram, rectangle PQ RS is divided into three identical
squares. If PQRS has perimeter 120 cm, what is its area,
in cm??

(A) 225 (B) 675 (C) 360

D) 432 (E) 144

P
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	[image: image16.png]Norine can retire when her age and the number of years that she has worked add
to 85. At present, she is 50 years old and has worked for 19 years. If she works
continuously until she retires, how old will she be when she can retire?

(A) 53 (B) 54 (C) 58 (D) 66 (E) 69
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	[image: image17.png]In the diagram, rectangle ABCD is divided into two
regions, AEFCD and EBCF, of equal area. If EB = 40, A__E

AD =80 and EF = 30, what is the length of AE?
(A) 20 (B) 24 (C) 10 e
(D) 15 (E) 30
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	[image: image18.png]Ben and Anna each have some CDs. If Anna gives six of her CDs to Ben, he would
then have twice as many CDs as Anna. If, instead, Anna takes six CDs from Ben,
then both would have the same number of the CDs. What is the total number of CDs
that Ben and Anna have?

(A) 42 (B) 30 (C) 72 (D) 18 (E) 36
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	[image: image19.png]In the diagram, two pairs of identical isosceles triangles are
cut off of square ABCD, leaving rectangle PQR.S. The total
area cut off is 200 m2. The length of PR, in metres, is

(A) v200 B) 20 (C) v800

D) 25 (E) 15

A








Answers: 1.D  2.A  3.C  4.C  5.A  6.C  7.D  8.C  9.B  10.E  11.B  12.B  13.E  14.A  15.B  16.C  17.D  18.C  19.B








